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 �������	
����
��������������
������
���
�
������� �����
������� !"� 
�#�
������������$%�!����#�&'��(  )�����	
����
������#�&������  3  %��'� 
���
�
���������
�#&+,�
�� 21.14  
����
/0�&� ���
�1 ��	�
����
/0�&�$2"����3���#&+,�
�� ����������
�	������#&+, 93.37 
����
/0�&� $��&����� 10.01 
����
/0�&� 7��#���� 2.60 
����
/0�&� 
+�� 6.63 

����
/0�&�  7�$&�
��9��
��/����� 47.64 
����
/0�&� ����$�7:
��&�� 7�'
�;�$�������� 3.20 

����
/0�&� 
�1 �!���� 33.12 
����
/0�&� )�#�
/��� 77.56 
����
/0�&� �	�$�
/��=$��  43.31 

����
/0�&� �	��	� 5.99 
����
/0�&� 
:�	
/��=$�� 38.09 
����
/0�&� ���
/��=$�� 37.32 
����
/0�&� 
/? �
����
/0�&�$��&��������
���
�
�������!����@?�A���#B���B& C���'���������� �	�#" ����D� 
(2542) �� %��'� 
���
�
��������� ���,���&#��,�( 40 �#� ��$��&����� 11.2 
����
/0�&� !��D��� 

����
/0�&��	�$�
/��=$�� )�#�
/��� ����	��	����
���
�
�������!����@?�A���#B���B �=���'�
��������� �	�#" ����D� (2542) �� %��'� 
���
�
��������� ���,���&#��,�( 40 �#��� �	�$�-

/��=$�� 37.4 
����
/0�&� )�#�
/��� 64.4 
����
/0�&� ����	��	� 2.80 
����
/0�&� �� 
�;�
"'���B���

�1 �������
���
�
������� !"�!����@?�A���#B���B �����,���&#� 45-60 �#� /? �
�1 �
��������,����?B� 
���#�$��&������������$�7:
��&�� 7�'
�;�$�������� /? �
�;��'��������2��!�
/������� 
!��D��� ���#�)�#�
/��� �	�$�
/��=$�� ����	��	�
%	 ��?B� ��������B�������
��	�
&	�$&���

��� ����+� ������&#� "�	� ����#B����#�����,H�7�$&�
���� !"� ���I�=����0��)�&'����#�
$��&��������$2"��&'��(���
��� (���#D
�, 2540; Van Soest, 1994) 

�������������
��������
������� !"��#�
������������$%� 0, 25, 50, 75 
��� 100 
����
/0�&� %��'� ���'�!���
�����#� �1� �����������	������#&+, 94.45-95.13 
����
/0�&� 
7��#���� 1.46-3.80 
����
/0�&� 
+�� 4.87-5.55 
����
/0�&� 
�1 �!���� 4.19-5.02 
����
/0�&�   
7�$&�
��9��
��/����� 70.67-73.67 
����
/0�&� ����$�7:
��&�� 7�'
�;�$�������� 52.85-57.76 

����
/0�&� ���$��&����� 14.30-16.29 
����
/0�&� /? ����#�$��&�����!���
���������

�0�����
�1 ����#��#�
����� !"����������$%�!��=&���
�����
%	 ��=��?B� !��D��� ����$�7:
��&
�� 7�'
�;�$�������������$���
%	 ��?B� ���������#����@?�A���� $�2�� ����D� (2543) �� 
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�������'� 
�1 �
��	��#�
������������$%� 0, 25 ��� 50 
����
/0�&�!��=&���
�� �'�)�!
����#�
$��&�����!���
��������� (23.48, 23.53 ��� 20.15 
����
/0�&� &���C��#�) 
�1 ����� �#�
�����
$��&�����& C� ���
��	��#�
���!����#��� �=��?B��?��'�)�!
�$��&��������'����� �#��#B����!"� 
�#�
���
�;��'��������!���
����� �?������#����#����$��&�����
�1��!"��
�'����$��&��
�� 

����� /? ����C�!
����!"����$�"���������$�7:
��&�� �'������7���'������#�
��� 
�	�
����	�T	2�%�=��,� (Tudor and McGuigan, 1985) 
 
"������� 3 �������������
��� (
����
/0�&���3���#&+,�
��) ���
���
�
������������
�������         
               !"��#�
������������$%����#�&'��( 

�
�#��#��!����	������$%� (������'(�"�) ������
���������� 
 

��������� �� 

0  25     50  75  100  
�#&+,�
�� 21.141/ 88.25 87.99 87.95 87.95 87.61 
�	������#&+, 93.37 94.95 95.13 94.84 94.85 94.45 
$��&����� 10.01 16.29 15.26 16.14 14.46 14.30 
7��#���� 2.60 3.80 2.84 2.78 2.10 1.46 

+�� 6.63 5.05 4.87 5.16 5.15 5.55 
7�$&�
��9��
��/�����2/ 47.64 70.67 72.77 71.11 73.27 73.67 
����$�7:
��&�� 7�'
�;�$��������3/ 3.20 52.85 56.09 55.17 55.31 57.76 

�1 �!���� 33.12 4.19 4.26 4.81 5.02 4.88 
)�#�
/��� 77.56 21.98 20.60 20.10 22.00 19.94 
�	�$�
/��=$�� 43.31 7.25 7.56 8.66 8.98 9.05 
�	��	� 5.99 1.54 1.74 2.32 2.88 2.88 

:�	
/��=$��4/ 38.09 14.73 13.04 11.44 13.02 10.89 

/��=$��5/ 37.32 5.71 5.82 6.34 6.10 6.17 

1/
����
/0�&��#&+,�
�����
���
�
������� 
2/7�$&�
��9��
��/����� = 100-(%$��&�����+%
�1 �!����+%7��#����+%
+��) 
3/ ����$�7:
��&�� 7�'
�;�$�������� = 100-(%$��&�����+%)�#�
/���+%7��#����+%
+��) 
4/
:�	
/��=$�� = )�#�
/���-�	�$�
/��=$�� 
5/
/��=$�� = �	�$�
/��=$��-�	��	� 
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�����������������  
  

 ��	��D��
���� �	�����%��� 7���#�
���
�
������� 
��	�������
������� !"��#�-

������������$%� 0, 25, 50, 75 ��� 100 
����
/0�&� �����#�&������  4 %��'� �%��#B� 5 ��,'�
�	�
���
�
�������7�� 7�'�&�&'���#�����+	&	 (P>0.05) $�����'���='!�"'�� 0.27-0.29 �	$���#�-
�#&+,�
��&'�&#�&'��#� 
�1� 0.88-0.95 
����
/0�&�����BC�
�#�&#� 
�1� 20.79-22.38 ��#��#&+,�
��&'�-
�	$���#��BC�
�#�
������	�&'�&#�&'��#� !��C����
�����#���	��D����	�7�������
��������
�%��#B� 5 ��,'�7�'�&�&'���#�����+	&	 (P>0.05) $����='!�"'�� 0.40-0.50 �	$���#��#&+,�
��&'�&#�-
&'��#� 
�1� 1.36-1.62 
����
/0�&�����BC�
�#�&#� 
�1� 30.67-38.32 ��#��#&+,�
��&'��	$���#�
�BC�
�#�
������	�&'�&#�&'��#� �&'�����$����'��%��� 7���#���
������� !"��#�
��������
����$%� 100 
����
/0�&� �	���
�����7��& C���'���,'��1 � �1� 0.40 �	$���#��#&+,�
��&'�&#�&'��#� 

�1� 1.36 
����
/0�&�����BC�
�#�&#� 
�1� 30.67 ��#��#&+,�
��&'��	$���#��BC�
�#�
������	�&'�-
&#�&'��#� �� 
�;�
"'���B���
�;�
%������!"��#�
���!����#��=���)��C�!
���
��9d�� �������"�&	
7�'�'��	� ��'��7��0&�� ��	��D��
���� �	�7���#B�
�� (
���
�
����������
�����) ����%��� 
7���#���
������� !"��#�
������������$%� 0, 25, 50 ��� 75 
����
/0�&�  (0.75, 0.78, 0.75 ��� 
0.76 �	$���#��#&+,�
��&'�&#�&'��#� &���C��#� 
�1� 2.52, 2.50, 2.40 ��� 2.51 
����
/0�&����
�BC�
�#�&#� &���C��#� 
�1� 58.38, 59.34, 56.60 ���  58.19 ��#��#&+,�
��&'��	$���#��BC�
�#� 

������	�&'�&#�&'��#� &���C��#�) 7�'�&�&'������%��� 7���#���
������� !"��#�
��������
����$%� 100 
����
/0�&� (0.69 �	$���#��#&+,�
��&'�&#�&'��#� 
�1� 2.31 
����
/0�&�����BC�
�#�&#� 

�1� 53.05 ��#��#&+,�
��&'��	$���#��BC�
�#�
������	�&'�&#�&'��#�) ���������#� $�2��  
����D� (2543) �� �������'� 
�1 �
��	��#�
������������$%�
%	 ��?B� (0, 25 ��� 50 
����
/0�&�) 
!��=&���
��$������ 7�'�'�)������&'���	��D��
���� �	�7���#B�
�� (15.20, 16.10 ��� 
16.60 �	$���#��#&+,�
��&'�&#�&'��#� 
�1� 4.00, 4.20 ��� 3.90 
����
/0�&�����BC�
�#�&#�&'��#� 
&���C��#�) ������������#����@?�A���� Chanjula ����D� (2005) �� �������'� ���
��	��=
���
�'���#��#�
���!����#��� �=��?B�!��=&���
���%� $��!"��=
��� 0 
����
/0�&��'���#��#�
��� 30 

���� 
/0�&�  �= 
��� 1 
���� 
/0�&��'���#��#�
��� 40 
���� 
/0�&�  �= 
���  2 
���� 
/0�&��'���#� 
�#�
��� 50 
����
/0�&� ��� �=
��� 3 
����
/0�&��'���#��#�
��� 60 
����
/0�&� 7�'�'�)������&'�
��	��D��
����������
��
����� �%��	�7���#B�
�� $�����'���='!�"'�� 0.69-0.70 �	$���#�- 
�#&+,�
��&'�&#�&'��#� 
�1� 3.14-3.35 
����
/0�&�����BC�
�#�&#� 
�1� 68.05-72.60 ��#��#&+,�
��&'�-
�	$���#��BC�
�#�
������	�&'�&#�&'��#� 
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"������� 4 ��	��D����	�7������%��� 7���#�
���
�
������� 
��	�������
������� !"��#�
�����- 
                �������$%�!����#�&'��( 

�
�#��#��!����	������$%� (������'(�"�) ������������0�� 

0 25 50 75 100 

SEM 

��������� ��       
  �	$���#��#&+,�
��/&#�/�#� 0.27 0.28 0.28 0.29 0.29 0.011 
  
����
/0�&�����BC�
�#�&#� 0.90 0.89 0.88 0.95 0.95 0.039 
  ��#��#&+,�
��/�	$���#��BC�
�#�
������	�/&#�/�#� 20.99 21.02 20.79 22.24 22.38 0.898 
��������       
  �	$���#��#&+,�
��/&#�/�#� 0.48  0.50  0.47  0.47  0.40  0.028 
  
����
/0�&�����BC�
�#�&#� 1.62 1.61 1.52 1.57 1.36 0.092 
  ��#��#&+,�
��/�	$���#��BC�
�#�
������	�/&#�/�#� 37.39 38.32  35.81  35.95  30.67  2.191 
���       
  �	$���#��#&+,�
��/&#�/�#� 0.75 0.78 0.75 0.76 0.69 0.029 
  
����
/0�&�����BC�
�#�&#� 2.52 2.50 2.40 2.51 2.31 0.102 
  ��#��#&+,�
��/�	$���#��BC�
�#�
������	�/&#�/�#� 58.38 59.34 56.60 58.19 53.05 2.266 

 

������������ �#"45������0�� 
 
 ��	��D����	�7������	������#&+,����%��� 7���#�
���
�
������� 
��	�����
��
������� !"��#�
������������$%� 0, 25, 50, 75 ��� 100 
����
/0�&� (&������  5) %��'� 
��	��D����	�7������	������#&+,���
���
�
�����!��%��#B� 5 ��,'�7�'�&�&'���#�����+	&	 
(P>0.05) $����='!�"'�� 0.25-0.27 �	$���#�&'�&#�&'��#� 
�1� 19.51-21.67 ��#�&'��	$���#��BC�
�#�

������	�&'�&#�&'��#� !��C����
�����#� ��	��D����	�7������	������#&+,�����
��������
�%��#B� 5 ��,'� 7�'�&�&'���#�����+	&	 (P>0.05) $����='!�"'�� 0.40-0.47 �	$���#�&'�&#�&'��#� 

�1� 30.64-36.42 ��#�&'��	$���#��BC�
�#�
������	�&'�&#�&'��#� �'����	��D����	�7�����
�	������#&+,�#B�
�� (
���
�
����������
�����) !��%��#B� 5 ��,'� %��'� 7�'�������&�&'���#�
����+	&	 (P>0.05) $�����'���='!�"'�� 0.67-0.73 �	$���#�&'�&#�&'��#� 
�1� 52.02-56.63 ��#�&'�-
�	$���#��BC�
�#�
������	�&'�&#�&'��#� /? ���	��D����	�7������	������#&+,����%� !�
���@?�A���#B���B!���
�����#����@?�A���� �ij� ����D� (2549) �� !"��#�
��� 30, 40, 50 ��� 60 

����
/0�&� �'���#��=
��� 0, 1, 2 ��� 3 
����
/0�&�!��=&���
������C�
�#��%��� 7���#�
���- 
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�
����������
&0���  ���%��'� ��	��D����	�7������	������#&+,���
���
�
����������
�����
!��%��#B� 4 ��,'� ���'���='!�"'�� 0.63-0.67  �	$���#�&'�&#�&'��#� (P>0.05) 
 
"������� 5 ��	��D����	�7������	������#&+,����%��� 7���#�
���
�
������� 
��	�������
�������      
                !"��#�
������������$%����#�&'��( 

�
�#��#��!����	������$%� (������'(�"�) ������������0����������� �#"45 

0 25 50 75 100 

SEM 

��������� ��       
  ��#�/&#�/�#� 253.02 256.89 258.00 269.69 271.06 10.680 
  ��#�/�	$���#��BC�
�#�
������	�/&#�/�#� 20.75 19.51 19.79 21.67 21.38 0.856 
��������       
  ��#�/&#�/�#� 445.71 473.06 448.60 452.66 396.55 23.498 
  ��#�/�	$���#��BC�
�#�
������	�/&#�/�#� 35.03 36.42 34.13 34.96 30.64 1.842 
���       
  ��#�/&#�/�#� 698.73 729.94 706.60 722.35 667.61 24.527 
  ��#�/�	$���#��BC�
�#�
������	�/&#�/�#� 55.78 55.93 53.92 56.63 52.02 1.927 

 
������$��"�����������0�� 
 ��	��D$��&������� �	�7������%��� 7���#�
���
�
������������
������� !"� 
�#�
������������$%� 0, 25, 50, 75 ��� 100 
����
/0�&� (&������  6) %��'� �%��#B� 5 ��,'���
��	��D$��&������� �	�7�����
���
�
�����7�'�&�&'���#�����+	&	 (P>0.05) $����='!�"'�� 27.44-
28.91 ��#�&'�&#�&'��#� 
�1� 2.05-2.22 ��#�&'��	$���#��BC�
�#�
������	�&'�&#�&'��#� �'��
��	��D$��&������� �	�7�������
����� %��'� �%��� 7���#���
������� !"��#�
��������
����$%� 75 ��� 100 
����
/0�&� ����	��D$��&������� �	�7�������
����� 66.78 ��� 58.94  
��#�&'�&#�&'��#� &���C��#� 
�1� 5.16 ��� 4.56  ��#�&'��	$���#��BC�
�#�
������	�&'�&#�&'��#� 
&���C��#� 7�'�&�&'���#�����+	&	 (P>0.05) �&'������������$%������#�
��� 100 
����
/0�&� !�
�=&���
�������)��C�!
��%�7���#�$��&����������
�����& C���'��%��� 7���#���
������� !"� 
�#�
������������$%� 0, 25  ��� 50 
����
/0�&� (73.77, 75.46  ��� 76.41 ��#�&'�&#�&'��#� 
&���C��#� 
�1� 6.03, 5.80 ��� 5.82   ��#�&'��	$���#��BC�
�#�
������	�&'�&#�&'��#� &���C��#�) 
��'�����#��C��#�����+	&	 (P<0.05) �� 
�;�
"'���B���
�1 ����������!"��#�
������������$%� 100 

����
/0�&�!��=&���
����� �����$����C�!
��%��	���
�����7������ �������#����#� 
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$��&�����!��=&���
���� ���� (&������  4) �?��'�)�&'���	��D$��&������� �	�7�������
��
��� ����#���)��C�!
���	��D$��&������� �	�7�����
���
�
����������
����� (87.63 ��#�&'�&#�-
&'��#� 
�1� 6.77 ��#�&'��	$���#��BC�
�#�
������	�&'�&#�&'��#� &���C��#�) & C���'��%��� 7���#�
��
������� !"��#�
������������$%� 0, 25 ��� 50 
����
/0�&� (104.30, 102.75 ��� 103.85 ��#�-
&'�&#�&'��#� 
�1� 8.15, 7.89 ��� 7.87 ��#�&'��	$���#��BC�
�#�
������	�&'�&#�&'��#� &���C��#�) 
��'�����#��C��#�����+	&	 (P<0.05) 
 
"������� 6 ��	��D����	�7�����$��&���������%��� 7���#�
���
�
������� 
��	�������
�������      
                 !"��#�
������������$%����#�&'��( 

�
�#��#��!����	������$%� (������'(�"�) ������������0�����$��"����� 

0 25 50 75 100 

SEM 

��������� ��       
  ��#�/&#�/�#� 27.53 27.69 27.44 28.91 28.69 1.217 
  ��#�/�	$���#��BC�
�#�
������	�/&#�/�#� 2.12 2.09 2.05 2.22 2.21 0.091 
��������       
  ��#�/&#�/�#� 73.77a 75.46 a 76.41 a 66.78 ab 58.94 b 3.402 
  ��#�/�	$���#��BC�
�#�
������	�/&#�/�#� 6.03 a 5.80 ab  5.82 ab 5.16 bc 4.56 c 0.276 
���       
  ��#�/&#�/�#� 104.30 a 102.75 a 103.85 a 95.69 ab 87.63 b 3.504 
  ��#�/�	$���#��BC�
�#�
������	�/&#�/�#� 8.15 a 7.89 a 7.87 a 7.38 ab 6.77 b 0.280 

a, b�'�
m�� ��� ���#�A��C��#�&'���#�!��+�
�����#�  �&�&'���#���'�����#��C��#�����+	&	 (P<0.05) 

 
��������#��'���	�
���$��'��7$�!������0�� 
 
 ��	��D)�#�
/�������	�$�
/��=$���� �	�7������%��� 7���#�
���
�
�������

��	�������
������� !"��#�
������������$%� 0, 25, 50, 75 ��� 100 
����
/0�&�  �����#�&����
��  7 %��'� �%��,���,'�����	��D)�#�
/��������	��D�	�$�
/��=$���� �	�7�����
��� 

�
����� ��='!�"'�� 221.11-234.84  ��� 117.09-126.19 ��#�&'�&#�&'��#� &���C��#� 
�1� 16.77-
18.04 ��� 9.01-9.71 ��#�&'��	$���#��BC�
�#�
������	�&'�&#�&'��#� &���C��#� ��	��D)�#�
/���
�����	��D�	�$�
/��=$���� �	�7�������
�������='!�"'�� 83.09-101.61 ��� 34.82-43.76 
 ��#�&'�&#�&'��#� &���C��#� 
�1� 6.43-7.99 ��� 2.72-3.38 ��#�&'��	$���#��BC�
�#�
�����- 
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�	�&'�&#�&'��#� &���C��#� �'����	��D)�#�
/�������	�$�
/��=$���� �	�7���#B�
����='!�"'�� 
317.54-334.42  ��� 151.91-168.44 ��#�&'�&#�&'��#� &���C��#� 
�1� 23.94-25.58 ��� 11.79-
12.98 ��#�&'��	$���#��BC�
�#�
������	�&'�&#�&'��#� &���C��#� /? �7�'�&�&'���#�����+	&	 
(P>0.05) ��

&,�� �%��#B� 5 ��,'�����	��D)�#�
/�������	�$�
/��=$���� �	�7��7�'�&�&'���#�  
���
�1 �������$���# �7��#&��
��B��
�1B��7���#�
�1 �!������
��
���
�;�
�#� �#��#B�
�1 ���
��

����� �%��#B� 5 ��,'��	�7������	��D7�'�&�&'���#� (&������  4) �?��C�!
���	��D)�#�
/������ 
�	�$�
/��=$���� �%�7���#������
��7�'�&�&'���#� 
 
"������� 7 ��	��D����	�7�����)�#�
/�������	�$�
/��=$������%��� 7���#�
���
�
�������  
               
��	�������
������� !"��#�
������������$%����#�&'��( 

�
�#��#��!����	������$%� (������'(�"�) ������������0�� 

0 25 50 75 100 

SEM 

��#��'���       
  ��������� ��       
   ��#�/&#�/�#� 221.11 224.20 224.63 234.84 234.45 14.444 
   ��#�/�	$���#��BC�
�#�
������	�/&#�/�#� 17.03 16.98 16.77 18.00 18.04 0.740 
 ��������       
   ��#�/&#�/�#� 101.61 101.05 94.78 99.58 83.09 7.392 
   ��#�/�	$���#��BC�
�#�
������	�/&#�/�#� 7.99 7.76 7.17 7.58 6.43 0.580 
 ���       
   ��#�/&#�/�#� 322.72 325.25 320.41 334.42 317.54 11.512 
   ��#�/�	$���#��BC�
�#�
������	�/&#�/�#� 25.02 24.74 23.94 25.58 24.47 0.888 
���$��'��7$�!       
  ��������� ��       
   ��#�/&#�/�#� 117.09 119.05 119.97 124.68 126.19 4.903 
   ��#�/�	$���#��BC�
�#�
������	�/&#�/�#� 9.06 9.08 9.01 9.60 9.71 0.384 
 ��������       
   ��#�/&#�/�#� 34.82b 38.50 ab 42.24 a 43.76 a 38.37 ab 2.113 
   ��#�/�	$���#��BC�
�#�
������	�/&#�/�#� 2.72  2.95 3.21  3.38  2.96  0.164 
 ���       
   ��#�/&#�/�#� 151.91  157.55  162.21  168.44  164.56  5.044 
   ��#�/�	$���#��BC�
�#�
������	�/&#�/�#� 11.79 12.03 12.23 12.98 12.67 0.403 

a, b�'�
m�� ��� ���#�A��C��#�&'���#�!��+�
�����#�  �&�&'���#���'�����#��C��#�����+	&	 (P<0.05) 
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!#���
!��8�9��� :� 0�����$;<�
 
 
 �#�����	�T	n����'��7�����$2"������%��� 7���#�
���
�
�������
��	�����
��
������� !"��#�
������������$%�!����#�&'��( �����#�&������  8 %��'� �%��� 7���#���
��
����� !"��#�
������������$%� 0, 25, 50, 75 ��� 100 
����
/0�&� ���#�����	�T	n����'��7�����
�#&+,�
�� 76.52, 77.34, 76.04, 75.23 ��� 75.08 
����
/0�&� &���C��#�  �#�����	�T	n����'��7�����
�	������#&+, 77.84, 78.68, 77.64, 76.94 ��� 76.82 
����
/0�&� &���C��#� ����#�����	�T	n����'��
7�����$��&����� 74.48, 74.20, 75.26, 73.00 ��� 72.45 
����
/0�&� &���C��#� 7�'�&�&'���#����
�+	&	 (P>0.05)   
 
"������� 8  �#�����	�T	n����'��7�����$2"������%��� 7���#�
���
�
������� 
��	�������
�����  
                  �� !"��#�
������������$%����#�&'��( 
!#���
!��8�9��� :� 0�� �
�#��#��!����	������$%� (������'(�"�) 

(������'(�"�) 0 25 50 75 100 

SEM 

�#&+,�
�� 76.52 77.34  76.04  75.23  75.08 0.685 
�	������#&+, 77.84 78.68 77.64 76.94 76.82 0.673 
$��&����� 74.48 74.20 75.26 73.00 72.45 0.913 
)�#�
/��� 61.75 a 61.44 ab 58.81 bc 58.41 c 59.99 abc 0.876 
�	�$�
/��=$�� 54.83 a 55.95 a 52.94 ab 50.01 b 53.44 ab 1.142 
$2"������� �'��7�� 58.08  62.84  59.01  58.40  54.88  2.151 

a, b,c�'�
m�� ��� ���#�A��C��#�&'���#�!��+�
�����#�  �&�&'���#���'�����#��C��#�����+	&	 (P<0.05) 

 
�C�
�#��#�����	�T	n����'��7�����)�#�
/�������	�$�
/��=$�� %��'� ���


��	��#�
������������$%��=��?B�!��=&���
�� �����$����C�!
��#�����	�T	n����'��7����� 
)�#�
/�������	�$�
/��=$������ !��C����
�����#� 
�T� ����D� (2534) ����$�� 
�T� ���
�D� (2547) �������'� 
�1 �!"��#�
������������$%� 0, 25, 50, 75 ��� 100 
����
/0�&� !�
��
������1���#� �'�)�!
��#�����	�T	n����'��7�����)�#�
/��� (67.20, 66.90, 64.90 61.30 ���  
58.80 
����
/0�&� &���C��#�) ����#�����	�T	n����'��7������	�$�
/��=$�� (55.70, 57.30, 
53.40, 51.50 ��� 50.40 
����
/0�&� &���C��#�) ������'�����#��C��#�����+	&	 (P<0.05) �������
����#�����	�T�����'��7�����)�#�
/�������	�$�
/��=$��!��%��� 7���#���
������� !"� 
�#�
������������$%� ���
�1 ��������#�
�����������������$�7:
��&�� ���#&������'������



 

                         32 

!����
%���=
��7��
�0���'�����$%� (�I&%� ����D�, 2534 ����$�� 
�T� ����D�, 2547; 
Veasilp and Mikled, 2001; Chanjula et al., 2003) 
�1 �!"��#�
������������$%�!��=&���
��!�
���#��� �=��?B� ��q��� �'��������'�����
�0�����C�!
��2�������
�;����-�'��!����
%���=
��
���� �'�)�&'�����C������������
����� �'������
�1 �!� (cellulolytic bacteria) (Merten and 
Loften, 1980; Hoover, 1986) ��'��7��0&�� 
����
/0�&�$2"������� �'��7��!��%��#B� 5 ��,'� ���'�
��='!�"'�� 54.88-62.84 
����
/0�&� ���7�'�&�&'���#�����+	&	 (P>0.05)  


�1 �%	���D���	��D�	������#&+,�� �'��7�����$��&������� �'��7������%��� 
7���#�
���
�
�������
��	�������
������� !"��#�
������������$%� 0, 25, 50, 75 ��� 100 

����
/0�&� (&������  9) %��'� ��	��D�	������#&+,�� �'��7��!��%��#B� 5 ��,'� 7�'�&�&'���#����
�+	&	 (P>0.05) $�����'���='!�"'�� 516.54-573.80 ��#�&'�&#�&'��#� 
�1� 39.65-41.97 ��#�&'�-
�	$���#��BC�
�#�
������	�&'�&#�&'��#� /? ��#�%#�T��#���	��D�	������#&+,�� �	�7�����
��� 

�
����������
����� (&������  5) ����#�����	�T	n����'��7������	������#&+,����%��#B� 5 ��,'� 
(&������  8) /? �7�'�&�&'���#�����+	&	 (P>0.05) ���������#����@?�A�����ij� ����D� (2549) 
�� �������'� 
�1 �
��	���
������� �����#��=
��� (0, 1, 2 ��� 3 
����
/0�&�) �'���#��#�
���!����#��� 

%	 ��=��?B� (30, 40, 50 ��� 60 
����
/0�&�) !���
������C�
�#��%� 7�'�'�)������&'���	��D
�	������#&+,�� �'��7�� ���
�1 �%	���D���	��D$��&������� �'��7�� %��'� ��	��D$��&������� 
�'��7����3����#�&'�&#�&'��#�!��%��� 7���#���
������� !"��#�
������������$%� 0, 25 ��� 
50 
����
/0�&� (77.79, 76.34 ��� 78.01 ��#�&'�&#�&'��#� &���C��#�) �=���'��%��� 7���#���
�����
�� !"��#�
������������$%� 100 
����
/0�&� (64.00 ��#�&'�&#�&'��#�)  ��'�����#��C��#�����+	&	 
(P<0.05) �'����	��D$��&������� �'��7����3����#�&'��	$���#��BC�
�#�
������	� %��'� �%�
�� 7���#���
������� !"��#�
������������$%� 0 ��� 50 
����
/0�&� ����	��D$��&������� �'��7�� 
5.62 ��� 5.63  ��#�&'��	$���#��BC�
�#�
������	�&'�&#�&'��#� �=���'��%��� 7���#���
������� !"�
�#�
������������$%� 100 
����
/0�&� (4.42 ��#�&'��	$���#��BC�
�#�
������	�&'�&#�&'��#�) 
��'�����#��C��#�����+	&	 (P<0.05) 
�1 �������	��D����	�7�����$��&�����!��%��� 7���#�
��
������� !"��#�
������������$%� 100 
����
/0�&� & C���'��%��� 7���#���
������� !"��#�
���
���������$%� 0, 25 ��� 50 
����
/0�&� ��'�����#��C��#�����+	&	 (P<0.05) (&������  6) �?��'�)�
!
���	��D$��&������� �'��7��!��%���,'���B& C������� 
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"������� 9 ��	��D�	������#&+,�� �'��7�� ���$��&������� �'��7������%��� 7���#�
���
�
�������     

��	�������
������� !"��#�
������������$%����#�&'��( 

�
�#��#��!����	������$%� (������'(�"�) $;<�
��� :� 0�� 

0 25 50 75 100 

SEM 

������ �#"45��� :� 0��       
  ��#�/&#�/�#� 544.18 573.80 547.28 553.52 516.54 19.954 
  ��#�/�	$���#��BC�
�#�
������	�/&#�/�#� 39.65 41.97 40.12 40.58 39.68 1.296 
$��"�������� :� 0��       
  ��#�/&#�/�#� 77.79 a 76.34 a 78.01 a 69.48 ab 64.00 b 2.789 
  ��#�/�	$���#��BC�
�#�
������	�/&#�/�#� 5.62 a 5.03 ab 5.63 a 4.90 ab 4.42 b 0.280 

a, b�'�
m�� ��� ���#�A��C��#�&'���#�!��+�
�����#�  �&�&'���#���'�����#��C��#�����+	&	 (P<0.05) 

 
!��5�0�$"��
�	�
���?<���
$ <�����0�$"��
� 
 
 ��	��D7�$&�
���� 7���#� 7�$&�
���� �#���� ������,����7�$&�
�����
�%��� 7���#�
���
�
������� 
��	�������
������� !"��#�
������������$%� 0, 25, 50, 75 ��� 100 

����
/0�&� (&������  10)  %��'� �%��#B� 5 ��,'� ����	��D7�$&�
���� 7���#����
���
�
�������7�'
�&�&'���#�!�����+	&	 (P>0.05) $�����'���='!�"'�� 4.07-4.28 ��#�&'�&#�&'��#� 
�1� 0.29-0.33 
��#�&'��	$���#��BC�
�#�
������	�&'�&#�&'��#� !��D��� ��	��D7�$&�
���� 7���#������
����� 
%��'� �%��� 7���#���
������� !"��#�
������������$%� 0, 25 ��� 50 
����
/0�&� ����	��D
7�$&�
���� 7���#������
����� 11.26, 11.63 ��� 11.68 ��#�&'�&#�&'��#� &���C��#� 
�1�  
0.90, 0.89 ��� 0.87  ��#�&'��	$���#��BC�
�#�
������	�&'�&#�&'��#� &���C��#� �=���'��%��� 
7���#���
������� !"��#�
������������$%� 100 
����
/0�&� (8.97 ��#�&'�&#�&'��#� 
�1� 0.68  
��#�&'��	$���#��BC�
�#�
������	�&'�&#�&'��#�) ��'�����#��C��#�����+	&	 (P<0.05) /? ��#�%#�T��#�
��	��D��
������� �	�7�� /? ��%���,'��� 7���#���
������� !"��#�
������������$%� 100 

����
/0�&� �	���
�����7��& C��,� �?��'�)�!
���	��D7�$&�
���� 7���#������
�����& C���'��%�
��,'��1 � ��'��7��0&�� ��	��D7�$&�
���� �%�7���#������
������� !"��#�
������������$%� 
100 
����
/0�&� 7�'�&�&'������%��� 7���#���
������� !"��#�
������������$%� 75 
����
/0�&� 
�C�
�#���	��D7�$&�
������� �%�7���#������
����������
��
��� %��'� �%��� 7���#�
��
������� !"��#�
������������$%� 0, 25 ��� 50 
����
/0�&� 7���#�7�$&�
����������
�� 
15.40, 15.74 ��� 15.75 ��#�&'�&#�&'��#� &���C��#� 
�1� 1.21, 1.19 ��� 1.16 ��#�&'��	$���#�-
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�BC�
�#�
������	�&'�&#�&'��#� &���C��#� �=���'��%��� 7���#���
������� !"��#�
��������
����$%� 100 
����
/0�&� (13.25 ��#�&'�&#�&'��#� 
�1� 1.01 ��#�&'��	$���#��BC�
�#�
������	�-
&'�&#�&'��#�) ��'�����#��C��#�����+	&	 (P<0.05) ���
�1 ������� �%��� 7���#���
������� !"��#�
���
���������$%� 100 
����
/0�&� �����$��������	��D��
���� �	�7�� ��	��D$��&������� �	�7�� 
����#�����	�T	n����'��7�����$��&��& C� �?��'�)�&'���	��D7�$&�
���� 7���#������
�� 

��	��D7�$&�
���� �#��������=�����w����� %��'� �%��� 7���#���
������� 
!"��#�
������������$%�  25, 50, 75 ��� 100 
����
/0�&� �����$����#�7�$&�
������=����
�w��������� ���
����
/0�&�7�$&�
���� �#����&'�7�$&�
���� �	�����%��#B� 4 ��,'��#���'����
���$������� 
�1 �
�����
�����#��%��� 7���#���
������� !"�����$%� 100 
����
/0�&� ���

�1 �������!��=&���
������� !"��#�
������������$%������
��	��=
��� (0.50-1.75 
����
/0�&�) 
/? �
�;��
�'�7�$&�
���� 7�'!"'$��&�� �� �#&��
��B��
�1B�������+�C�7�!"����$�"��7����'�����
�0� 
�������#��#�
���
�;��
�'������q��� �����+�'������7��
�0� ���
�1 ����
�'����7�$&�
����
�C�!
�
�	��������,����%�#�������$��&�� �C�!
��#&�������+!"����$�"�����7�$&�
��!�
��
��7����'��������	�T	2�%����#�7�$&�
��������� ��'��7��0&�� 
�1 �%	���D����,�
7�$&�
������%��#B� 5 ��,'� %��'� �%��� 7���#���
������� !"��#�
������������$%� 25 ��� 50 

����
/0�&� �����,�7�$&�
�� 7.25 ��� 7.75 ��#�&'�&#�&'��#� &���C��#� 
�1� 0.53 ��� 0.57  
��#�&'��	$���#��BC�
�#�
������	�&'�&#�&'��#� &���C��#� �=���'��%��� 7���#���
������� !"��#�-

������������$%� 0, 75 ��� 100 
����
/0�&� (5.82, 5.56 ��� 5.50 ��#�&'�&#�&'��#� &���C��#� 

�1� 0.42, 0.41 ��� 0.42 ��#�&'��	$���#��BC�
�#�
������	�&'�&#�&'��#� &���C��#�) ��'����
�#��C��#�����+	&	 (P<0.05) ����!
�

0��'����!"��#�
������������$%�  25-50 
����
/0�&� !�
�=&���
���'���#����
��	��=
��� 0.5-1 
����
/0�&� (&������  1) �C�!
��#&�������+!"����$�"�����
7�$&�
��7��������	�T	2�%�=��,� 
%������
�'��������$�7:
��&�� �����7���'�����,��#��
�'�
7�$&�
���� 7�'!"'$��&���� ������!��=&���
�� �&'���!"��#�
������������$%�!����#��� 
�=��?B� (75-100 
����
/0�&�) ����C�!
�����$�7:
��&�� �'������7��
�0�!��=&���
�����=�
�	�7� 7�'
���,��#��
�'�7�$&�
���� 7�'!"'$��&���� ������!��=&���
�� (�=
���!��=&���
���� !"��#�
���
���������$%� 75 ��� 100 
����
/0�&�  
�'��#� 1.5 ��� 1.75 
����
/0�&� &���C��#�) �?��C�!
����
!"����$�"��7�����7�$&�
������ /? ��ij� ����D� (2549) �������'� ���
��	��=
��� 0, 1, 2 ��� 
3 
����
/0�&� �'���#��#�
��� 30, 40, 50 ��� 60 
����
/0�&�!��=&���
���%��� 7���#�
���
�
�����-
�� �'�)�!
����,�7�$&�
��!��%������$���
%	 ��?B�&�����#��=
�������#�
����� 
%	 ��?B� �#��#B�
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���!"��#�
���!��=&���
���%��?�&����C��?�+?��
�'�������#����7�$&�
���� 7�'!"'$��&���� 


�����!��=&���
������ 

 
"������� 10 ��	��D7�$&�
���� 7���#� 7�$&�
���� �#���� ������,�7�$&�
������%��� 7���#�


���
�
������� 
��	�������
������� !"��#�
������������$%����#�&'��( 
�
�#��#��!����	������$%� (������'(�"�) ���?<���
$ <��0�����0�$"��
� 

0 25 50 75 100 

SEM 
 

������0�$"��
����0���#�       
  ��������� ��       
     ��#�/&#�/�#� 4.14 4.11 4.07 4.20 4.28 0.195 
     ��#�/�	$���#��BC�
�#�
������	�/&#�/�#� 0.30 0.30 0.29 0.31 0.33 0.014 
  ��������       
     ��#�/&#�/�#� 11.26 a 11.63 a 11.68 a 10.36 ab 8.97 b 0.549 
     ��#�/�	$���#��BC�
�#�
������	�/&#�/�#� 0.90 a 0.89 a 0.87 ab 0.76 bc 0.68 c 0.039 
  ���       
     ��#�/&#�/�#� 15.40 a 15.74 a 15.75 a 14.56 ab 13.25 b 0.519 
     ��#�/�	$���#��BC�
�#�
������	�/&#�/�#� 1.21 a 1.19 ab 1.16 ab 1.07 bc 1.01 c 0.040 
������0�$"��
�����#����       
  �7�       
     ��#�/&#�/�#� 4.64 ab 4.84 a 4.60 ab 4.51 ab 4.11 b 0.213 
     ��#�/�	$���#��BC�
�#�
������	�/&#�/�#�   0.34 0.36 0.33 0.33 0.31 0.015 
  �@!!��
       
     ��#�/&#�/�#� 5.10 a 3.64 b 3.29 b 4.09 ab 3.56 b 0.392 
     ��#�/�	$���#��BC�
�#�
������	�/&#�/�#� 0.35  0.27  0.24  0.36  0.27  0.036 
  ���       
     ��#�/&#�/�#� 9.74 a 8.48 ab 7.89 b 8.60 ab 7.67 b 0.489 
     ��#�/�	$���#��BC�
�#�
������	�/&#�/�#� 0.69 a 0.63 ab 0.57 b 0.69 ab 0.58 b 0.035 
0�$"��
�����#����/0�$"��
������� 
(������'(�"�) 

 
63.60 a 

 
54.61 bc 

 
49.87 c 

 
60.00 ab 

 
58.03 ab 

 
2.638 

  !��5�0�$"��
�       
     ��#�/&#�/�#� 5.82 b 7.25 a 7.75 a 5.56 b 5.50 b 0.473 
     ��#�/�	$���#��BC�
�#�
������	�/&#�/�#� 0.42 b 0.53 a 0.57 a 0.41 b 0.42 b 0.035 

  a, b, c�'�
m�� ��� ���#�A��C��#�&'���#�!��+�
�����#�  �&�&'���#���'�����#��C��#�����+	&	 (P<0.05) 
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����B��� �?���
�%�
�7���  
 

�'�����
�;����-�'�� ����
������������$�
���-7�$&�
�� ������7��#��� 
��

�7��!����
%���=
������%��� 7���#�
���
�
�������
��	�������
������� !"��#�
��������
����$%� 0, 25, 50, 75 ��� 100 
����
/0�&� (&������  11) %��'� ����
�;����-�'�� !����
%�� 
�=
������%��#B� 5 ��,'� �� 
��� 0 "# �$�� (�'��!
���
��) ���'���='!�"'�� 6.84-7.03 �'������
�;�
���-�'��!����
%���=
������%��#B� 5 ��,'� �� 
��� 4 "# �$��
�#�!
���
�� ���'���='!�"'�� 6.22-
6.36 ����'�
m�� ��������
�;����-�'�� !����
%���=
������%��#B� 5 ��,'� ���'���='!�"'��  
6.53-6.65 /? �7�'�������&�&'���#�����+	&	 (P>0.05) �'�����
�;����-�'��!����
%���=
�����
�%��#B� 5 ��,'���B��='!����#��� 

�����&'�����C���"�%����,�	������!����
%���=
�� (
�T�, 2533) 
���

�����&'�����C��������,�	������/? ������+�'��
�1 �!����$��&��7���� (Hoover, 1986) 
����!
�

0��'� ���!"��#�
���!����#��� �=��?B����������$%�!��=&���
�� 7�'��)�&'����

��� ������������#�����
�;����-�'��!����
%���=
������%� 


�1 �%	���D�
�����
�����'�����
�;����-�'�� !�"'��
��� 0 ��� 4 "# �$��
�#�!
�
��
�� %��'� �'�����
�;����-�'�� ��& C���!�"# �$����  4 
�#����!
���
�� �&'7�'�������&�&'��
�#�����+	&	 (P>0.05) ���
�1 �����2��
�#������ �#&��7���#���
�� �����������
�#��'����
��

�	��?B���'�����
�0� �����)�	&���7��#��� ��

�7�� /? ������+������BC�������,D���#&	!�����#�
��'��$��&�� (H+) 7�� (Forbes and France, 1993) �?��C�!
��'�����
�;����-�'��!����

�����
���
%���=
������  

�'������
������������$�
���-7�$&�
��!����

��������
%���=
��!�
�%��#B� 5 ��,'� �� 
��� 0 ��� 4 "# �$��
�#�!
���
�� ���'���='!�"'��  11.28-15.36 ��� 12.86-22.29 
�	��	��#�&'�
�/	�	&� &���C��#� $���'�
m�� ��������
������������$�
���-7�$&�
�� �#B� 2 
"'��
���
�'��#� 12.33-18.83 �	��	��#�&'�
�/	�	&� /? �����
������������$�
���-7�$&�
��!�
���

��������
%���=
��!����@?�A���#B���B �����$�������
�1 ����#��#�
����� !"������
����$%�!��=&���
��
%	 ��?B�!����#� 50 
����
/0�&��?B�7� ���������#� Fadel ����D� (1987) 
�� �������'� ���#����$�
���-7�$&�
��!����
%���=
���������7��
�1 ������
��	�����BC�&��
�����q�!���
�� ��'��7��0&�� ���#����$�
���-7�$&�
��!����
%���=
��!��%��#B� 5 ��,'�!�
���@?�A���#B���B��='!�"'����&	 (10-30 �	��	��#�&'�
�/	�	&�) /? �

���&'����
��	�
&	�$&����,�	�- 
����� �������#�
����
�$��&������,�	������ (Perdok and Leng, 1990)  
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"������� 11 �'�����
�;����-�'�� ����
������������$�
���-7�$&�
�� ������7��#��� ��

�-
7��!����
%���= 
������%��� 7���#�
���
�
������� 
��	�������
������� !"� 
�#�
������������$%����#�&'��( 

�
�#��#��!����	������$%� (������'(�"�) �@

# ���BC�D� 

0 25 50 75 100 

SEM 
 

�'�����
�;����-�'��       
   0 ".�. �'��!
���
�� 6.86 6.84 7.03 6.88 6.87 0.061 
  4 ".�. 
�#�!
���
�� 6.36 6.22 6.26 6.23 6.31 0.055 
  �'�
m�� � 6.61 6.53 6.65 6.55 6.59 0.044 
���$�
���-7�$&�
�� (�	��	��#�/
�/	�	&�) 
   0 ".�. �'��!
���
�� 14.50ab 15.36 a 12.28 ab 11.28 b 11.79 b 1.058 
  4 ".�. 
�#�!
���
�� 17.85 ab 22.29 a 17.13 ab 18.15 ab 12.86 b 1.854 
  �'�
m�� � 16.18 ab 18.83 a 14.71 bc 14.72 bc 12.33 c 1.062 
���7��#��� ��

�7�� �#B�
�� (�	��	$��/�	&�) 
   0 ".�. �'��!
���
�� 73.00 73.90 69.60 79.20 76.30 4.472 
  4 ".�. 
�#�!
���
�� 78.00 82.30 80.30 79.20 76.30 4.235 
  �'�
m�� � 75.50 78.10 75.00 79.20 76.30 4.584 
�����/	&	� (
����
/0�&�������7��#��� ��

�7���#B�
��) 
   0 ".�. �'��!
���
�� 64.80 63.90 63.20 65.30 67.20 2.546 
  4 ".�. 
�#�!
���
�� 67.50 65.40 66.00 66.80 67.20 1.896 
  �'�
m�� � 66.20 64.70 64.60 66.10 67.20 2.328 
���$%�%	$��	� (
����
/0�&�������7��#��� ��

�7���#B�
��) 
   0 ".�. �'��!
���
�� 17.90 19.80 18.90 18.80 17.70 1.565 
  4 ".�. 
�#�!
���
�� 19.60 20.40 19.50 18.50 20.20 2.151 

  �'�
m�� � 18.80 20.10 19.20 18.70 19.00 1.868 
����	����	� (
����
/0�&�������7��#��� ��

�7���#B�
��) 
   0 ".�. �'��!
���
�� 14.20 14.70 15.10 14.20 14.70 1.493 
  4 ".�. 
�#�!
���
�� 15.20 15.60 17.10 16.00 12.40 2.451 
  �'�
m�� � 14.70 15.20 16.10 15.10 13.60 2.066 
�����/	&	�:���$%�%	$��	�        
   0 ".�. �'��!
���
�� 3.80 3.30 3.50 3.60 3.80 1.253 
  4 ".�. 
�#�!
���
�� 3.30 3.10 3.20 3.50 3.30 0.965 
  �'�
m�� � 3.50 3.20 3.40 3.50 3.60 1.032 

a, b, c�'�
m�� ��� ���#�A��C��#�&'���#�!��+�
�����#�  �&�&'���#���'�����#��C��#�����+	&	 (P<0.05) 
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����
������������7��#��� ��

�7�� ��	��D�����/	&	� ���$%�%	$��	� ���-
�	����	� ����#��'����������/	&	�&'����$%�%	$��	� !����
%���=
������%��� 7���#�
��� 

�
�������
��	�������
������� !"��#�
������������$%�!����#�&'��( %��'� ���7��#��� ��

�-
7���#B�
���� 
��� 0 ��� 4  "# �$��
�#�!
���
�����'���='!�"'�� 69.60-79.20 ��� 76.30-82.30 �	��	-
$��&'��	&� &���C��#� ����'�
m�� �������7��#��� ��

�7���#B�
������%��#B� 5 ��,'� ���'���='
!�"'�� 75.00-79.20 �	��	$��&'��	&� /? �7�'�&�&'���#�����+	&	 (P>0.05) 
�1 �%	���D���	��D���
���7��#��� ��

�7���&'��"�	� %��'� �����/	&	�!����
%���=
���� 
��� 0 ��� 4 "# �$��
�#�!
�
��
�� ��='!�"'�� 63.20-67.20 ��� 65.40-67.50 
����
/0�&� &���C��#� $���'�
m�� ���������/	&	�
!����
%���=
������%��#B� 5 ��,'� ��='!�"'�� 64.60-67.20 
����
/0�&� /? �7�'�&�&'���#�����+	&	 
(P>0.05) 

!��C����
�����#� ���$%�%	$��	��������	����	�!����
%���=
���� 
��� 0 ��� 
4 "# �$�� 
�#����!
���
�� ����'�
m�� �������$%�%	$��	��������	����	�!����
%���=
�����
�%��#B� 5 ��,'� 7�'�&�&'���#�����+	&	 (P>0.05) $���'�
m�� �������$%�%	$��	��������	����	�
!����
%���=
������%� ��='!�"'�� 18.70-20.10 
����
/0�&� ��� 13.60-16.10 
����
/0�&� 
&���C��#� /? �����
������������7��#��� ��

�7���#B�
�� ��	��D�����/	&	� ���$%�%	$��	� 
�������	����	� !����
%���=
������%����'�
%	 ��?B�!�"# �$����  4 
�#����!
���
�� ��������
�#� Wanapat (2000) �� �������'� ����
������������7��#��� ��

�7���#B�
����
%	 ��?B����+?�
�,��=��,�
�#����!
���
�� 2-4 "# �$�� �C�
�#��#��'����������/	&	�&'����$%�%	$��	�!�
���
%���=
������%��#B� 5 ��,'� %��'� �#��'����������/	&	�������$%�%	$��	�!����
%�� 
�=
���� 
��� 0 ��� 4 "# �$��
�#�!
���
�� ����'�
m�� �����#��'����������/	&	�&'���� 
$%�%	$��	�!����
%���=
�� ��='!�"'�� 3.30-3.80, 3.10-3.50 ��� 3.20-3.60 &���C��#� 7�'�&�&'��
�#�����+	&	 (P>0.05) ���������#� Nocek ��� Tamminga (1991) �� �������'� ����
���������
���7��#��� ��

�7���#B�
�� ��	��D�����/	&	� ������$%�%	$��	�!����

��������
%�� 
�=
�����$������ �� 7���#���
���� !"��#��C���
�#�
�;��'�������� ���'�7�'�&�&'�����$��� 
7���#���
������� !"�����$%������������
���
�;��'�������� (P>0.05) /? �����
������������
7��#��� ��

�7���#B�
��!����
%���=
������#&��
��B��
�1B�������)#���='!�"'�� 70-150 �	��	$��
&'��	&� 
�1������D 5-10 ��#�&'��	&� �#B���B�?B���='�#���
���������
���
�#����!
���
���1B��#B� 
��������B�#��'��������7��#��� ��

�7���&'��"�	������)#� $������� ������� �,� �1� ���- 
��/	&	� �#&���� 7���#���
��
����� ��
�1 �!��=� ���������/	&	�!����
%���=
�� 60-70 
����
/0�&� 
���
�1 ��#��'�������
�����
%	 ��?B������/	&	������� !��D��� ���$%�%	$��	���
%	 ��?B� $��
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���$%�%	$��	��������D 18-20 
����
/0�&� 
���#&��7���#���
������=������#��'��������- 
$%�%	$��	�!����
%���=
���=� /? ����$%�%	$��	���������C��#�!����
��� ��
�;��BC�&��!�

�1�� ���!"��#�
����
��BC�&��!��� �'������	����	��������D 10 
����
/0�&� /? ���+=�

��� ��
�;�
�&�-7:����/��	���
�� (ß-hydroxybutyrate) !���
�'������=�/?��� )�#����
%���=
�� 

%1 �!"��#�
����
�7��#�!�&'���BC��� ���
�1B�
�1 �7��#� (�,�����, 2541) 
  �C���������
��� $��$&/#� ���/=$���������
"1B���!����
%���=
������%��� 
7���#�
���
�
������� 
��	�������
������� !"��#�
������������$%�!����#�&'��( (&������  12) 
%��'� �C���������
����#B�
��!����
%���=
������%��#B� 5 ��,'��� 
��� 0 ��� 4 "# �$��
�#�!
�
��
����='!�"'�� 0.80-1.60 x 1010 ��� 0.91-1.31 x 1010 
/���&'��	��	�	&� &���C��#� $���'�
m�� �
����C���������
����#B�
�� ��='!�"'�� 0.99-1.41 x 1010 
/���&'��	��	�	&� /? ��=���'��C����
�����
���!����
%���=
�����$�������� 7���#�9��
�#��=
��� 5 
����
/0�&� 
��	�������
���� !"� 
�#�
��� 40, 50, 60 ��� 70 
����
/0�&� �'���#��=
��� 0, 2, 4 ��� 6 
����
/0�&� �� ���C���� 0.4-0.7  
x 1010 
/���&'��	��	�	&� (
�T� ����D�, 2547) �C�
�#����"���$��$&/#��#B�
�� %��'� �C����
$��$&/#�!����
%���=
������%��#B� 5 ��,'��� 
��� 0 ��� 4 "# �$��
�#�!
���
����='!�"'��  
2.16-3.56 x 106 ��� 2.65-3.58 x 106 
/���&'��	��	�	&� &���C��#� $���C�������"���$��$&/#�

m�� ���='!�"'�� 2.41-3.57 x 106 
/���&'��	��	�	&� ����C�������"������$��$&/#������$���

%	 ��=��?B�&�����#��#�
����� 
%	 ��?B�!��=&���
�� 
�1 ��������
�'��������$�7:
��&�� �'������
7�����
�0�$��
m%����q�
%	 ��?B� /? ����
��	���q�!��=&���
��"'��%#������
��	�
&	�$&��� 
$��$&/#� (Chamberlain et al., 1985; Jouany, 1988) ���
����
�����@�����q�����
����'�
���$��$&/#�����#&������'����
�������� (Coleman, 1986) ��'��7��0&�� �C�������"���
$��$&/#�!����
%���=
������%�!����@?�A���#B���B!���
�����#����@?�A���� Chanjula ���
�D� (2005)  �� �������'� ���
��	��=
����'���#��#�
���!����#��� �=��?B�!��=&���
���%� $��!"� 
�=
��� 0 
����
/0�&��'���#��#�
��� 30 
����
/0�&� �=
��� 1 
����
/0�&��'���#��#�
��� 40 
����
/0�&�  
�=
��� 2  
����
/0�&��'���#��#�
��� 50 
����
/0�&� ����=
��� 3 
����
/0�&��'���#��#�
��� 60 

����
/0�&� �'�)�!
��C�������"���$��$&/#�!����
%���=
��
m�� ���='!�"'�� 2.87-3.92 x 106 

/���&'��	��	�	&� �&'�C����$��$&/#�������@?�A���#B���B�=���'��C����$��$&/#�!����
%���=
��
���$�������� 7���#�9��
�#��=
��� 5 
����
/0�&� 
��	�������
���� !"��#�
��� 40, 50, 60 ��� 70 

����
/0�&� �'���#��=
��� 0, 2, 4 ��� 6 
����
/0�&� �� ���C���� 3.5-7.2 x 105 
/���&'��	��	�	&� (
�T� 
����D�, 2547) /? ��C����$��$&/#���������������?B���='�#�"�	������
������	
�@�	���!�
���
%���=
�� $��
m%�����#����$�
���-7�$&�
��!����
%���=
�� $��
�����#����$�
���-
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7�$&�
��
%	 ��?B���� 20 �	��	��#�7�$&�
��&'��	&� 
�;� 80 �	��	��#�7�$&�
��&'��	&� �C����
$��$&/#���
%	 ��?B�+?� 4 
�'� �&'
�����#����$�
���-7�$&�
�� 
%	 ��=��?B�
�;� 200 �	��	��#�
7�$&�
��&'��	&� ���'�)�!
��C�������"���$��$&/#����� (Kanjanapruthipong and Leng, 
1998) ���������@?�A���� Owens ����D� (1998) �������'� $��$&/#������+��1��	�
�0���q�
�����=$������
�0�����7��!��=�$%���/���7��� (polysaccharides) !�
/������$��$&/#�
�� /? �
"'��"������
�#���q�7�'!
�
�	���'�����
�0��q���#�7�'!
�
�	�����
�;����!����
%���=
�� 
�'�)�!
��,�	�������'��
�1 �!����� 
  !��'������C����/=$���������
"1B���%��'� �%��� 7���#���
������� !"��#�
���
���������$%� 25 
����
/0�&� ���C����/=$������
"1B���!����
%���=
���'��!
���
���=��,� 
(1.31 x 106 
/���&'��	��	�	&�) �&�&'������%��� 7���#���
������� !"��#�
������������$%� 0 

����
/0�&� (0.80 x 106 
/���&'��	��	�	&�) ��'�����#��C��#�����+	&	 (P<0.05) �'���C����/=$������
���
"1B���!����
%���=
�� ��  4 "# �$��
�#�!
���
�� ����'�
m�� �����C����/=$���������
"1B���
!����
%���=
������%��#B� 5 ��,'� ��='!�"'�� 1.41-1.91 x 106 
/���&'��	��	�	&� ��� 1.15-1.41  
x 106 
/���&'��	��	�	&� &���C��#� /? �7�'�&�&'���#�����+	&	 (P>0.05) /? ��C����/=$��������� 

"1B���!����
%���=
������%�!����@?�A���#B���B!���
�����#����@?�A���� Chanjula ����D� 
(2005)  �� �������'� ���
��	��=
����'���#��#�
���!����#��� �=��?B�!��=&���
���%� $��!"��=
��� 0 

����
/0�&��'���#��#�
��� 30 
����
/0�&� �=
��� 1 
����
/0�&��'���#��#�
��� 40 
����
/0�&�  
�=
��� 2 
����
/0�&��'���#��#�
��� 50 
����
/0�&� ����=
��� 3 
����
/0�&��'���#��#�
��� 60 
����
/0�&� 
���C�������"���/=$���������
"1B�����='!�"'�� 2.07-2.89 x106 
/���&'��	��	�	&� ��'��7��0&��
�C����/=$���������
"1B���!����
%���=
������%�������@?�A���#B���B������@?�A���� 
Chanjula ����D� (2005) �=���'��C����/=$���������
"1B���!����
%���=
�����$�������� 
7���#�9��
�#��=
��� 5 
����
/0�&� 
��	�������
���� !"��#�
��� 40, 50, 60 ��� 70 
����
/0�&� �'���#�
�=
��� 0, 2, 4 ��� 6 
����
/0�&� �� ���C���� 7.5-18.6 x 105 
/���&'��	��	�	&� (
�T� ����D�, 2547)  
  
�1 �%	���D��'�
m�� �����C���������
��� $��$&/#� ���/=$���������
"1B���!�
���
%���=
������%�!����@?�A���#B���B %��'� ���'���='!�"'�� 0.99-1.41 x 1010, 2.41-3.57 x 106 
��� 1.15-1.41 x 106 
/���&'��	��	�	&� &���C��#� /? ����C�����=���'��C�����,�	������!����
%�� 
�=
�����$������/? ���='!�"'�� 0.4-0.7 x 1010, 3.5-7.2 x 105  ��� 7.5-18.6 x 105  
/���&'��	��	�	&� 
&���C��#� (
�T� ����D�, 2547) ����'�)�!
��%������+�'�����!"����$�"�������
���� �� 

�1 �!��=�7������'�������$� (Devendra, 1978 ����$�� ��
����&	, 2528) 
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"������� 12 �C���������
��� $��$&/#� ���/=$������
"1B���!����
%���=
������%��� 7���#�  
                     
���
�
������� 
��	�������
������� !"��#�
������������$%����#�&'��( 

�
�#��#��!����	������$%� (������'(�"�) 
5������ � 

0 25 50 75 100 

SEM 
 

    	������� �#E���� (x1010 �'���/�������"�)     
   0 ".�. �'��!
���
�� 1.60 1.40 1.40 1.50 0.80 1.359 
  4 ".�. 
�#�!
���
�� 1.20 1.31 1.10 0.91 1.10 0.050 
  �'�
m�� � 1.41 1.35 1.30 1.21 0.99 1.651 
$��$"'#��#E���� (x106 �'���/�������"�) 
   0 ".�. �'��!
���
�� 2.16 3.04 2.99 3.08 3.56 1.521 
  4 ".�. 
�#�!
���
�� 2.65 2.78 3.18 3.25 3.58 3.254 
  �'�
m�� � 2.41 2.90 3.08 3.17 3.57 1.123 
'7$�!�����<GE����#E���� (x106 �'���/�������"�) 
   0 ".�. �'��!
���
�� 0.80b 1.31 a 1.10 ab 0.91 ab 1.00 ab 0.106 
  4 ".�. 
�#�!
���
�� 1.91 1.60 1.51 1.41 1.41 1.562 
  �'�
m�� � 1.35 1.35 1.41 1.15 1.21 1.202 

a, b�'�
m�� ��� ���#�A��C��#�&'���#�!��+�
�����#�  �&�&'���#���'�����#��C��#�����+	&	 (P<0.05) 

 
��	���0���?���G�� 
 
  ��	��&�
�0�
�1������#���'� ����
����������=
���-7�$&�
�� �����=$��!�

�1���%��� 7���#�
���
�
������� 
��	�������
������� !"��#�
������������$%����#�&'��( 
(&������  13) %��'� ��	��&�
�0�
�1������#���'�����%��#B� 5 ��,'��� 
��� 0 "# �$�����'���='!�"'�� 
26.88-29.33 
����
/0�&� �����	��&�
�0�
�1������#���'� ��  4 "# �$��
�#����!
���
�����'���='
!�"'�� 26.60-29.00 
����
/0�&� 7�'�&�&'���#�����+	&	 (P>0.05) �C�
�#��'�
m�� ������	��&�
�0�-

�1������#���'� �#B� 2 "'�����@?�A� %��'� �%��� 7���#���
������� !"��#�
������������$%� 50, 
75 ��� 100 
����
/0�&� ����	��&�
�0�
�1������#���'� 28.58, 28.83 ��� 28.61 
����
/0�&� �=���'�
�%��� 7���#���
������� !"��#�
������������$%� 0 
����
/0�&� (26.94 
����
/0�&�) ��'����
�#��C��#�����+	&	 (P<0.05) ��'��7��0&�� ��	��&�
�0�
�1������#���'����
�1���%�!����@?�A�
��#B���B��='!�"'����&	 (22-38 
����
/0�&�) (Jain, 1993) /? ���	��&�
�0�
�1������#���'�
�1��'�:���-
$&��	& (hematocrit) 
�;��#"���� �C��#���'��
�? ��� !"��	�	�m#��'� �#&��������)	���&	���
�1��
�1�7�' 
$��
����	��&�
�0�
�1������#���'�& C���'��'���&	 �#&��������������$��$�
	&��� (anemia) 
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!����&���#�����
����	��&�
�0�
�1������#���'��=���'��'���&	 �#&��������������$��$%��-
/#�T�
��� (polycythemia) /? �
�	������������
�0�
�1������� ���)	���&	 (7"�D����, 2541) !�
���@?�A���#B���B�����
��	��=
��� 0.50-1.75 
����
/0�&�!���
������� 
��	�!
���'�%� /? � NRC (1988) 
����C�!
�!"��=
���!����#� 3 
����
/0�&�!��=&���
���#&��
��B��
�1B�� 
�1� 30 ��#�&'��	$���#��#&+,-
�
�� !��D���  ARC (1980) �������'� �#&��
��B��
�1B�������+!"��=
���7��+?� 0.5 ��#�&'��	$���#�-
�BC�
�#�&#� $��7�'�'�!
�
�	�%	A ��'��7��0&�� ���#����!"��=
���!���
���?B���='�#�
����w��#� 
"'� 
�������!
��#&��7����#�&#� ������#��������$�7:
��&�� �'������7���'�� /? �
���=&���
����
�������,��#����$��&�����%�#���� �0�����+!"��=
���!����#��=�7�� $��7�'�'�)������
�1�

�;�%	A&'��#&�� /? ������
�;�%	A����=
���!��#&��
��B��
�1B�� �1� �����
�1B����)	�
�#���������# �
���&,� �BC����7
� +'���w���������,������'��( ����#B������
%	 ��?B�����'���	��&�
�0�
�1��
����#���'� (Lloyd, 1986 ����$�� �ij� ����#��	@���, 2549) /? �)�������@?�A���#B���B����!
�

0�
�'� ���#��=
����� !"�
��	�!���
��7�'�'�!
�
�	�����
�;�%	A!��%� ���������#� Chanjula  
����D� (2005) �� �������'� �����+!"��=
���7��+?� 3 
����
/0�&��'���#��#�
��� 60 
����
/0�&�!�
��
������C�
�#��%�$��7�'�'�)������&'���	��&�
�0�
�1������#���'� 
  �C�
�#�����
����������=
���-7�$&�
��!�
�1���%��� 
��� 0 ��� 4 "# �$��
�#�
!
���
�� ���'���='!�"'�� 20.30-21.43 ��� 22.96-25.35 �	��	��#�&'�
�/	�	&� &���C��#� ����'�
m�� �
�������
����������=
���-7�$&�
��!�
�1���� 
��� 0 ��� 4 "# �$��
�#�!
���
�����'���='!�"'�� 
21.74-23.06 �	��	��#�&'�
�/	�	&� /? �7�'�������&�&'���#�����+	&	 (P>0.05) ����
����������=
���-
7�$&�
��!�
�1���%�������@?�A���#B���B��='!�"'����&	�������
����������=
���-7�$&�
��!�

�1���%� (11.2-27.7 �	��	��#�&'�
�/	�	&�) (Lloyd, 1982) ��'��7��0&�� ����
����������=
���-
7�$&�
��!�
�1�������$���
%	 ��?B�!�"# �$����  4 
�#����!
���
�����������#� Eggum (1970) 
�� �������'�����
����������=
���-7�$&�
��!�
�1����
%	 ��=��,�2��!� 3 "# �$��
�#����!
�
��
�� /? �����
����������=
���-7�$&�
��!�
�1�� �#�%#�T��#�����
������������$�
���-
7�$&�
��!����

��������
%���=
�� ��'���1� 
�1 �������'������$��&��7��
�;����$�
���-
7�$&�
�� /? �+=��=�/?�)'��)�#����
%���=
�� 
�#�����#B���
����='�����
�1�� �#��#B�
�1 �����

������������$�
���-7�$&�
��!����

��������
%���=
��
�#����!
���
�����'��=� �0��
�'�)�!
�����
����������=
���-7�$&�
��!�
�1���=�&��7����� (Higginbotham et  al., 1989) /? �
������@?�A���#B���B%��'� ����
������������$�
���-7�$&�
��!����
%���=
���=��?B�
�#����
!
���
�� 4 "# �$�� (&������  11) 
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�1 �%	���D�����
�����������=$��!������
�1�� %��'�����
���������
��=$��!������
�1������%��#B� 5 ��,'� 7�'�&�&'���#�����+	&	 (P>0.05) $������
���������
��=$��!������
�1���'��!
���
�����'���='!�"'�� 66.50-68.70 �	��	��#�&'�
�/	�	&� �������-

�����������=$��!������
�1����  4 "# �$��
�#�!
���
�����'���='!�"'�� 71.60-79.30 �	��	��#�-
&'�
�/	�	&� $���'�
m�� ��������
�����������=$��!������
�1�����'���='!�"'�� 69.40-73.90 
�	��	��#�&'�
�/	�	&� /? �!���
�����#����@?�A���� Chanjula ����D� (2005) �� �������'� �%��� 
7���#�
���
�
�������
�;���
��
��� 
��	�������
������� !"��#�
��� 30, 40, 50 ��� 60 

����
/0�&��'���#��=
��� 0, 1, 2 ��� 3 
����
/0�&� ������
�����������=$��!�
�1����='!�"'�� 69.47-
73.82 �	��	��#�&'�
�/	�	&� /? ���='!�"'���� ��&	 $�� Kaneko (1980) �������'� ����
���������
��=$��!�
�1���%��� �'�����2������,����%�#����!��'������1� 50-75 �	��	��#�&'�
�/	�	&�  
 
"������� 13 ��	��&�
�0�
�1������#���'� ����
����������=
���-7�$&�
�� �����=$��!�
�1��

����%��� 7���#�
���
�
������� 
��	�������
������� !"��#�
������������$%����#�
&'��( 

�
�#��#��!����	������$%� (������'(�"�) �@

# ���BC�D� 

0 25 50 75 100 

SEM 
 

��	��&�
�0�
�1������#���'� (
����
/0�&�) 
   0 ".�. �'��!
���
�� 26.88 28.00 29.33 28.67 29.00 0.556 
  4 ".�. 
�#�!
���
�� 27.00 26.60 27.83 29.00 28.22 0.670 
   �'�
m�� � 26.94 b 27.30 ab 28.58 a 28.83 a 28.61 a 0.466 
�=
���-7�$&�
��!�
�1�� (�	��	��#�/
�/	�	&�) 
   0 ".�. �'��!
���
�� 21.43 20.30 21.40 20.58 20.50 0.804 
  4 ".�. 
�#�!
���
�� 22.96 23.16 24.70 23.84 25.35 0.998 
   �'�
m�� � 22.20 21.74 23.06 22.22 22.93 0.794 
��=$�� (�	��	��#�/
�/	�	&�)       
   0 ".�. �'��!
���
�� 67.80 65.20 68.50 66.50 68.70 1.554 
  4 ".�. 
�#�!
���
�� 73.80  73.60 79.30 74.30  71.60 2.393 
   �'�
m�� � 70.80 69.40 73.90 70.40 70.15 1.681 

a, b�'�
m�� ��� ���#�A��C��#�&'���#�!��+�
�����#�  �&�&'���#���'�����#��C��#�����+	&	 (P<0.05) 
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����#���������5%#�8�%�����?��@!!��
	�
������0�$"��
����
5������ �?���
�%�
�7��� 
 

)����!"��#�
������������$%�!���
�����&'�����#���������,%#�T�%	����
!��w����� ��	��D�	������#&+,�� �'������!����
%���=
�� �����	��D7�$&�
������,�	������
!��%��� 7���#�
���
�
������� �����#�&������  14 %��'� ����#���������,%#�T�%	����!�
�w���������%��� 7���#���
���� !"��#�
������������$%� 25 
����
/0�&� ���'��=��,� (3.42 �	��	-
$��&'�&#�&'��#�) �&�&'������%��� 7���#���
���� !"��#�
������������$%� 0, 50, 75 ��� 100 

����
/0�&� (3.04, 2.90, 2.97 ��� 2.88 �	��	$��&'�&#�&'��#� &���C��#�) ��'�����#��C��#�����+	&	 
(P<0.05) ��'��7��0&�� 
�1 �%	���D���3���	��	$��&'��	$���#��BC�
�#�
������	�&'�&#�&'��#� 
%��'� �%��� 7���#���
������� !"��#�
������������$%�!����#�&'��( ����	��D��,%#�T�%	������ 
�#����!��w�����7�'�&�&'���#�����+	&	 (P>0.05) $�����'���='!�"'�� 0.21 - 0.25 �	��	$��&'�-
�	$���#��BC�
�#�
������	�&'�&#�&'��#� ����#���������,%#�T�%	����!��w�����!����@?�A���#B�
��B& C���'���������� Paengkoum ����D� (2006) �� %��'� �%�%#�T,�/�
�� (Saanen) 
%@
����� 
7���#���
���� !"����!�������BC��#���7��BC� )������BC�&�� 1 
����
/0�&� $�������#��=
��� 10, 20, 
30, 40 ��� 50 ��#�&'��	$���#��#&+,�
��������!�������BC��#���7��BC� �#���,%#�T�%	�������!�
�w����� 2.84-6.60 �	��	$��&'�&#�&'��#� /? �$�2�� �������,� (2547) �������'� ����#�������
��,%#�T�%	����!��w���������#&��
��B��
�1B���?B���='�#�
����w��#� 7����' "�	�����#&�� %#�T,��#&�� 
�
�'�$��&�� ������#�$��&��!���
��  �
�'�%�#����������#����%�#����!���
�� ���
��	��D��
���� �	�7�� $��
�1 ���	��D��
���� �	�7�����$��&���� 7���#�
%	 ��?B� ����#�������
��,%#�T�%	����!��w�������
%	 ��?B� 
�1 ������,�	������7���#�7�$&�
�������
��
%	 ��?B� �C�!
�
��	��D$��&������,�	�������� )�	&!����
%���=
���� 7
�)'��+=��'������=�/?��� �C�7��
�0�
%	 ��?B� 
�?�������#���������,%#�T�%	����!��w�����
%	 ��?B� �������,%#�T�%	����!��w�����
%	 ��?B� 

���+?� �,�	������!����
%���=
�������+�#�
����
�$��&��7��
%	 ��?B� ($�2�� �������,�, 
2547) �'�)�!
��C�����,�	������!����
%���=
��
%	 ��?B� ����'��������!"����$�"�������
��

������?B� (Hoover and Stokers, 1991) 
  �C�
�#���	��D�	������#&+,�� �'��7��!����
%���=
��%��'� �%��� 7���#���
�����
�� !"��#�
������������$%� 25 
����
/0�&� ����	��D�	������#&+,�� �'��7��!����
%���=
���=��,� 
�1� 0.41 �	$���#�&'�&#�&'��#� �&�&'������%��� 7���#���
������� !"��#�
������������$%�!�
���#� 0, 50, 75 ��� 100 
����
/0�&� (0.37, 0.36, 0.37 ��� 0.37 �	$���#�&'��#� &���C��#�) ��'����
�#��C��#�����+	&	 (P<0.05) /? �$�2�� �������,� (2547) �������'� ��	��D�	������#&+,�� �'��7��
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!����
%���=
�������
�1������?B���='�#���	��D�	������#&+,�� �'��7������#&�� !����@?�A���#B���B 
��	��D�	������#&+,�� �'��7��!��%��� 7���#���
������� !"��#�
������������$%� 25 
����
/0�&���
���$����=��,� (&������  9) �?��'�)�!
���	��D�	������#&+,�� �'��7��!����
%���=
������%���
�'��=��,� �C�
�#���	��D7�$&�
������,�	������!����
%���=
�� %��'� ��	��D7�$&�
����� 
�,�	������!����
%���=
������%��#B� 5 ��,'� ���'���='!�"'�� 0.97-1.43 ��#�7�$&�
��&'��#� 
(P>0.05) 
�1� 2.62-3.41 ��#�7�$&�
��&'��	$���#��	������#&+,�� �'��7��!����
%���=
�� (P>0.05) 
!���
�����#����@?�A���� Khamseekhiew (2005) �� �������'� ����=�)�����	� (Malin) �� 7���#�

���
�
������
�����
&0��� 
��	�!����+	��
�� 100 ��#�&'�&#�&'��#� �����
����� 50 ��#�&'�&#�
&'��#� ����	��D7�$&�
������,�	������!����
%���=
�� 0.90-1.01 ��#�7�$&�
��&'��#� 
�1� 
2.65-2.87 ��#�7�$&�
��&'��	$���#��	������#&+,�� �'��7��!����
%���=
�� /? �$�2�� �������,� 
(2547) �������'� ��	��D7�$&�
������,�	������!��#&��
��B��
�1B�� �?B���='�#�"�	������
���� �#&��
7���#� �2�%�������!����
%���=
�� &������	T�����#�7�$&�
������,�	������ 
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"������� 14  ����#���������,%#�T�%	����!��w�����  ��	��D�	������#&+,�� �'��7��!����
%�� 
                  �=
�� �����	��D7�$&�
������,�	������!����
%���=
������%��� 7���#�
��� 
                  
�
������� 
��	�������
������� !"��#�
������������$%����#�&'��( 

�
�#��#��!����	������$%� (������'(�"�) %������"��� 

0 25 50 75 100 

SEM 
 

��5%#�8�%�����?��@!!��
       
  ��,%#�T�%	�������1 (�	��	$��/&#�/�#�)  3.04 b 3.42 a 2.90 b 2.97 b  2.88 b  0.082 
  ��,%#�T�%	������� (�	��	$��/�	$���#�/�BC�
�#�
������	�/&#�/�#�)   
 0.22 0.25 0.21 0.22 0.22 0.006 
������������ �#"45��� :� 0��?���
�%�
- 
�7���2 (��$���#�/�#�) 

 
0.37 b 

 
0.41 a 

 
0.36 b 

 
0.37 b 

 
0.37 b 

 
0.009 

0�$"��
����
5������ �       
  ��#�7�$&�
��/�#�3 1.12  1.43  0.97  1.04  1.16  1.898 
  ��#�7�$&�
��/�	$���#��	������#&+,�� �'��- 
  7��!����
%���=
�� 

 
2.90 

 
3.41 

 
2.62 

 
2.71 

 
3.01 

 
0.275 

a, b�'�
m�� ��� ���#�A��C��#�&'���#�!��+�
�����#�  �&�&'���#���'�����#��C��#�����+	&	 (P<0.05) 
1��,%#�T�%	������� �C���D�������� y = 5.86x � 0.33    (R2 =0.99) ; y = ��,%#�T�%	������� (�	��	$��/&#�/�#�) 

           x = ��	��D�	������#&+,�� �'��7�� (Makkar and Chen, 2004) 
             2��	��D�	������#&+,�� �'��7��!����
%���=
�� = 0.65 x ��	��D�	������#&+,�� �'��7�� (�	$���#�/�#�) (ARC, 1984) 

37�$&�
������,�	������(��#�7�$&�
��/�#�) �C���D�������� Y = 70X/(0.085 x 0.83 x 1000) ;  
   
�1 � X = ��,%#�T�%	������ +=��=�/?��� �C�7�� (�	��	$��/�#�), Y = ����#���������,%#�T�%	�������!��w�����  
   (�	��	$��/�#�) (Jetana et al., 2003a, b ����$�� $�2�� �������,�, 2547) 

 
   
 

 
 
 
 
 
 


